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Abstract:

Synthesis of New Drerivatives of Tetrahydrobenzo[b] pyrans by One—p(;f Three
Component Reaction
Neda Darya

Pyrans and fused pyrans are important derivatives of organic compounds, which have
interesting important chemical properties. For example benzopyrans are widely spread in the
nature, and many of them constitute the basic material of essences and various pigments of
plants. Many of these compounds have different properties such as anti-bacterial, anti-
coagulation and anti-cancer, they are also used in industry as pigments. Because of limited
availablity of these products in natural resources and the more important the problems
related to their extraction, attracted the attention of many synthetic chemists. At present work
we studied the synthesis of fused pyans by employing one-pot three component reaction
using malononitrile, Aryl aldehyde and appropriate carbonyl compounds under solvent free
condition in an aluminium flask in excellent yields (94-98 %).
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Scheme 1. examples of pyran syntheses |

Key words: pyran, three component reaction, cyclocondensation, benzoxanthenes, fused
pyrans '
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